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Questions:1.|2018 Latest N10-007 Exam Dumps (PDF & VCE) 535Q&As

Download:https://www.braindump2go.com/n10-007.html2.|2018 Latest N10-007 Exam Questions & Answers

Download:https://drive.google.com/drive/folders/1Um9XMy881xQGwunqPhEhCGg411Rwh3x9?usp=sharingQUESTION 112

Which of the following are network topologies? (Select TWO).A.    EthernetB.    DuplexC.    StarD.    CircularE.    BusAnswer: CE
QUESTION 113Which of the following MUST be kept synchronized in order for Kerberos to work?A.    CertificateB.    TicketC.   

TimeD.    TokenAnswer: CQUESTION 114Which of the following MUST be used when securing a VoIP network consisting of

private IP addresses?A.    IPSB.    Application layer firewallC.    IDSD.    An unmanaged switchAnswer: BQUESTION 115Which

of the following uses certificates as a form of security?A.    KerberosB.    LDAPC.    PKID.    CHAPAnswer: CQUESTION 116

Which of the following cables will MOST likely be used to connect to a satellite dish?A.    RG-6B.    CAT5eC.    FiberD.    CAT6

Answer: AQUESTION 117A VoIP line will MOST likely have which of the following connectors?A.    RJ-11B.    DB-25C.    BNC

D.    RJ-45Answer: DQUESTION 118Which of the following is a proprietary routing protocol?A.    RIPB.    EIGRPC.    OSPFD.   

BGPAnswer: BQUESTION 119Which of the following is an invalid MAC address?A.    AA:CE:58:FD:90:08B.   

44:98:3E:F8:33:23C.    56:AD:BX:89:55:54D.    94:9E:FE:EE:8C:DFAnswer: CQUESTION 120Which of the following network

topologies allows only communication to take place from one node at a time by passing a token around the network?A.    StarB.   

MeshC.    BusD.    RingAnswer: DQUESTION 121A technician discovers that a malware infection has damaged part of the

Windows TCP/IP stack. Which of the following commands can help repair the damage?A.    netsh lanB.    netsh interfaceC.    netsh

wlanD.    netsh winsockAnswer: DQUESTION 122Which of the following devices exist as either hardware or software to assist in

routing traffic? (Select TWO).A.    Cable modernB.    Layer 2 switchC.    RouterD.    NIDSE.    Layer 3 switchAnswer: CE
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